Gabarito Final das Provas Objetivas - UFMG Edital 683/2017

=l faY Fal Fa =IEJEdEdEdEd EdEdEdEd 44 4 (0] 18] (6] [§] (8] (] [6] [S] (O] [¥] k&) [S] (@'
J|o|ofo vla|lala|lalalalalalolo|o|o|x |<|<|<|<|<|<|<|<|<|<|<]|<
M_.JAAD [ R Waal EC KU el ool Waall faa ) ool ool ol Waal Waall aal Naall Naall Waal Waal Waal faa ]l Naa )l Waall Waall Waall Waa]) fai]
| |||« <|u|u|u|u|u|u|u|u|u|u|u|u|a|a|a|la|o|o|lalalalalalalo
(7]
.m S|o|lo|< # || |* ||| ||| <|<|<|<|Oo|o|o|o|o|o|o|o|o]x |O|lOo]O
S
2 Qlu|u|m Y fa) fa] fa] fa) Fa] Fa] fa] fa] Fa] F=] f=] F=] k][] [¥] [¥] [E] [S] [¥] [E] [S] [} (S (S} [§]
©
£ il Fal ol B4 <|«<|a|<|a|<|q|<|<|<|<|<|<|0|n|a|n|a|n]|a|s |0|a|a|a|o
©
S
K] = Fay Fay I o|la|a|la|a|la|la|la|o|o|o|o|o|a|a|o|o|o|o|o|o|o|o|o|a|ao
=
N W <[<]|o ) [S1 6] (6] (6] [] [E] (6] [] F [O) [O) FO) Fal FaY Fa Fa) F=Y F=Y F=1 =1 =1 D=1 D=1 0=0 =)
.nn._. || <|<|o alalalalalalalalalalalala|o|* |o|o|+ |[o|o|o|o|o|o|o]o
(7]
L mlololo Ola|* |* [o]|o|o|o|o|o|o|o|(oa|ala]x [o|a|a|lala|lalalalala
©
.m M...VBBA | C|<C<C|<C|C* |* |<|C|* || <| |||
(7]
S M| <<« <|<|<|<|<|<|<|<|<|<|<]| <] <|<|<|<|<|<|* |<|<|<|<|<]|<]|<
(7]
ol ulS[e|o|e| |a|a|x |+ |o|a|a|e|a|a|e|a|a|e|a|o|a|a|o|o|a|o|o|oa|ofa
wn| ©
8|S
2|88 <[<|o olu|u|u|u|ulu|u|ulu]u|u|u|a|a|a|la|o|a|lalalalalalalo
®| 8
£ Ql<|<|«< <|o|a|a|al|alal|la|ala|a|o|a|o|o|o|o|o|o|o|o|u|ov|u|u|o
©
S| [R|o|o|a| |ofo|ofo|ofo|a|a|o|o|o|olo|<|<|<|<|<|<|<|<|<|<|<|<]|
1
* N|o|o|< Sd (G} (S} [S] (G} [G) (G} (S} [O} [C) (G} [O} IO} E-d -4 B4 B d B d Ed B4 Ed B4 Ed Eqd ke
1
o
S = =1L o|lo|o|a|a|a|la|la|alalala|ala|alalalalalalalalalalala
=
2 Q|<|<|o ol|<|<|<|<|<|q|<|q|<|<|< |0 |o|o|o|o|o|o|o|o|o|o|o|o
(7]
wv| ©
wls Slololo =) (€] {61 [S] '] [¥] (] (€] I 4 (] [§] [¥] V] [S] [E] [¥] [S] [¥] [¥] [S] [¥] [] [] [S] [} &'
L]
Q.
_.M% B|o|o|m o|lo|o|a|a|alalalx |a|la|la|a|la|lalalalalal+ o]+ |o|a|ala
L
S
WQ N <|<|o o< |+ |||« |<|<|<|O|o|o|o]|o|o|o|o|o|o|u]x |0
2
= Slolalo SR e dEdEdEdEdEdEdEdEd EdEd EdEdEd EdEdEdEdEdEdEdEqdEq e
(7]
° Qlulu|oe =) (€] {61 [S] '] [¥] [S] (€] [¥] [S] [S] [¥] V] [S] [] [¥] (] [S] [¥] [E] [S] [¥] [E] [S] [} IS
>
= Al<|<|o * lo|lo|o|o|o|o|o|o|a|o|a|o]x [ala|la|la|lalolalalalalala
m Rlo|o|m n|o|o|o|lo|o|o|o|(a|o|(a|a|a|lala|lalalalalalalalalalalo
o
s Nlo|lo|«< <|<|<|<|<|<]|a]|<|<|<|<]|* |<|o|o|o|o|o]o|o|o|o|o]* |o|o
(7]
S = fal Fal I o|la|* [+ |a|o|a|la|a|lalalx |o|o|o|o|o|o]|o|o|u]|o|ofu]|u]o
(7]
um dlo|o|o|o|o|«|a| << <|<|<|<|<|<|<|<|<| <] <|<|<|<|<|<|<|<|<]|<
(7]
W MAABBBBBBBBBBBBBBBBBBBBBBBBBBBB
[
gl |Q|o|e|<|<|<|<|<|<|<|<|<|<|<|<|<|<|<||a|a|a|a|a|a|a|la|alalala
[ =
moHDDDDDBBBBBBBBBBBBCCCCCCCCCCCCC
S
AT
S| 8l2|<|<|<|<|<|o|o]|o|o|u|o|o|o|o|o|o|o|alalalala|alalalalalale|o
£l
BB S|ofo|olo|o|<c|<|c| ||| || <| <] <[ <] <[ <] < | <] < | <] <| << | << <]<
o ]
n_mge9AABBBCCCCCCCCCCCCCCCCCCCCCCCCC
(5]
=l wn
2| glofalajo|o|o|alalalalalala|a|a|o|alalalala|a|a|a|alalalalalala
©| &
“m—/AACCCBBBBBBBBBBBBAAAAAAAAAAAAA
2| o
Ble|o|o|o|a|a|a|u]|o|o|o|o]|o|o|o|o|o|u]|u|ofo|u]o|o|u]o|o|u]|u|ofo]o
c| ®©
“| 3
IR R (SHSIEdEd Ed =l =l f=] =] =] [} [a} [} [} fal ol Fal ol Eo) o) o R R A A E T T el
<|S
s|<|<|o|o|o|ac|c| ||| <|<|<|<|<|<|<|<|<|<|<|<|<|<|<|<|<|<|<]|<
(2o} NON NON K- @l K- g -l faa |} Naa )l Naa}l Naall Has R Was] faa |} Jaa )l Jaall Jaa} HasR Nas] fa) Fal fal Ia) falialfa) fa)l ia) fa) fala) e
N|lao|o|a|la|la|ala|la|ala|la|alalala|alalalalalalalalalalalalalalo
SIEJEJICI GO R 44 EdEdEdEd EdE 44 EdE 44 (][] (8] (U] (] [S] [] [¥] [S] [] [¥] [S] [§)
O
=|o %
o L o<t w
<L =|A N %)
%) (@ < << | w L <
v v < < % | O =
= 0 |9 = P 2 <|a @)
€S 5 3= O wir|o Jls o2 < o
o © O Z s(2 <= a = @]
2O (Sl =] [S[T5IE N < " =z <
P UN (@) —
8 8 3 [l (2 == |€]< = v < o
LT = (&9 olel|z OS] ofw ©) E ala
= c [ 2 = |\ | L ||ADAA = P =
O o ~l=lolZ2] [Sl2I21Z 1|28 |2<|(<| 25 S wn|Z
= |z[5|212| [2|2(3|5]<lE]E|2|2|2|5|2 5|2 ° 3|5
] S|1=z[|=(2 MEEMVGGVCOMNQN o = E|lOC
e e e R R R B R E EE R M E P o« Z|z
2 (3|2(292] [o|2|2|%[3|E|H(Z|E|E[S|u|<|e|=|8 2 |« 2l
o 2 |gla|le|2| (a|lo|alZ|z|Elz|o|u|Hle|Z]| L3505 =PE 213
AAW%AMAAAAAAAEEMTHEme ol D <(8
Z|1Z|ID[ZIE|lw(=|s|=(=|s|s|=(=s|==|alolw|E|2<|E| 2] |Sl<
W | w clwn|a == =z
Z1Z(=<|al=|olelolelolelolelolelolol= xR s|Solaol08]|e2
SISl (2|1e|8[ele|e|e(ele|e|e(Llels|Elolz|<|o|Elae|2(=|8|a
II_MRONNNNNNNNNNNNN_WBUENMWA,w,MNA
x[x wliZzlglo|lo|lo|lo|lo|lo|lo|lo|lo|lo|o nlalelz|z al215(0|x
=) b Yo} I-N) KoY Mrv] Nrv] Nrvl Nvel Nvvl Nuvf eefl Srefl Seefl Srefl el Sl =4 4 k720 =) A IS lw|a s | w
<|<|O|o|a|r|E[FlF[FIFIF|FIF[FIF[FI<|<]|<|a|u| =2 Z[a]a [T |F




